LEH-o — Gurg Sifla,

Part-A — General Studies
denm&ser :1-100 Qwrss wHLCLTEET : 150
Questions :1-100 Total Marks : 150
1.  Choose the correct pair :
Name of the President Elected Year

(1) Dr. S. Radha Krishnan — 1961

(2) Dr. Zakir Hussain — 1966

(3) Fakhruddin Ali Ahmed - 1974

(4) N. Sanjeeva Reddy — 1977

(A) (1) and (2) are correct (B) (2) and (3) are correct

| (C) (3) and (4) are correct (D) (1) and (4) are correct .

(E) Answer not known

sfluner @evearenw SerL Ml :

G4 WUTES @@l QU Csip0s@ssiur L am®
(1) Dr. S. yugn & meisemre - 1961
(2). Dr. snéi e Caan ~ 1966
(3)  usmSar oI @isDE — 1974
@) N PG Oy — 1977
@) (Ropgis @) siuna B) (2) o (3) sAurans

©) (3) womw (4) sNwnarg (D) (1) wpmd (4) sNuirerg
(B) afler QaNueena '
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LEH-= — Qurg siPlay

Part-A — General Studies

aermésear : 1-100 GQrss wHLCueamrger : 150
Questions :1-100 Total Marks :150
;- o Choose the correct pair :
Name of the President Elected Year

(1) Dr. S. Radha Krishnan — 1961

(2) Dr. Zakir Hussain — 1966

(3) Fakhruddin Ali Ahmed - 1974

(4) N. Sanjeeva Reddy - 1977

(A) (1) and (2) are correct (B) (2) and (3) are correct

| (C) (3) and (4) are correct (0 (1) and (4) are correct
(E) Answer not known |

sflurer @enewrenw SerL_Hls :

G WTES Saealr QUL 1 -':iéﬁg@g)@a;asguLL )
(1) Dr. S. grsr & meigewmrer - 1961
(2) Dr. sné&r 2. Cageir — 1966
(3) usmSer o6l &L - 1974
@ N e T = 1o
@ Xoopits (2) sume B) (2) opgd (3) shuras

(C) (3) wppd (4) sNwnears (D) (1) wombd (4) sAwrarg
(E) el Qafuefdeme ;
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A current of 0.5 A passes through a lamp for two >minutes, then the

" number of electrons pass through the lamp 1s

(A) 16.25 x 1018 electrons
(B) 6.023 x 10% electrons

| (©) 1.6 x 107 electrons

(D) 3.8x10% electrons

(E) Answer not known

0.5 A BenGarm ib @aﬂ@m efleré@ eudwns @rem® BBl s urruaﬂg)gﬂ
aafled, eflats@ eufCw Qsary erdlilenarenssalen eramantsams

(A) 6.25 x 102 o
(B) 6.023 x 10% cravsi_yreraer
(C) 1.6 107" aasi premsar
D) 3.8 x 10% cravssi prenasa
(E) efon QpMucidme

ISRO prefer to launch Human space flight mission during
75 independence, the (crew member) explorer is named as

(A) Astronaut s  (B) Cosmonaut
(C) Gagannaut ‘ . (D) Ganganaut

(E) Answer not known

@b cflareuel < uia] OIS SITED 75@-@ szpsl758ear Cungl geuliu@ibd
walgwers Garanh Qeogd Aarsasde HarQeauelll  Lwerb
Gmm@asrrm@m & e-miinldent ereucum) ccqan@azz_;_f s_“'f? |

A) e Grrpm ‘ (B) amevCummm

(C) smempmC - (D) smsimm

. (E) e Qgrﬂu@ﬁ]@men :

CCSE2E/2024 - 4 ¥



“Number four and two are strengthening your words” -

Number ‘two’ refers to what?

(A) Proverb ~ i (By Thirukkural

(C) Naaladiyar (D) Aathisoodi

(E) Answer not known '

“Brayd @re(Hb Qerdes@EmS” aremp LpGurAle ‘@ran®’ Tsmers
GN&dlermg ? ' ' ,
A)  upQomf (B) dms@mer

(C) preguimt : (D) <ysdss

(E) e Qzfuelcrena :

According to Valluvar, which will bel considered with ulmost

- gratitude? ,
(A) As Bamboo as Benefit ‘(B) As Millet as Benefit
(C) As Sea as Benefit (D) As Mount as Benefit

(E) Answer not known

THMET ‘UaTerey pardlwursds Qamereur eram cuaT@heu GHIUNGEDTT?

(A prdld sere per : (B) Savar siaray par

(C) sLd erey perd (D) weoe <era) perd
(E) e Qsflueierena

“Kallaarai Kaanungal Kalvi Nalga
Kasadarukku thookkumaram angae undaam”
Who wrote these lines?

(A) Bharathidasan : : (B) Kannathasan
(C) Vannathasan (D) Vaanithasan
(E) Answer not known

“BLHOMMTE STEIBIGTED B0 HOSTS

&FLTEGS NG BhGs o L mb” —

@sselleang aufls@nss@ o Mweur wmi?

(A) urpdsnaer (B) sawangrsen
(C) eaamamsrger (D) eumenfigneaen
(E) e Qsfwefdens
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7.  Arrange the following Books of Jawaharlal Nehru in Chronological

order considering their year of publication.

(D
(2)

3)

(4)
(A)
(B)
(©)
D)
(E)

An Autobiography : Toward Freedom
Glimpses of world History
The Discovery of India

Before Freedbm

(4), (3), (2), (1)
2), (D, 3), @)
2), (3), (4), (1)
2), @), 3), (1)

Answer not known

peianiord GCrmelear EroOSmeT e

g linel e sroafasiuhsgs :

(1)

@)

3)
(4)
A)

(B) ©

©)
(D)

()

ot swefos : aspdrb Corsd
> 05 ey @f Urf@ar
@bdwureler sam® gLy
FSHETSSDES (e

@, (3, @), Q)

@, (), 3), @

@), (3, @), (1)

@, (4), (3), ()

el @g,mmm@m

~ CCSE2E/2024 : 6
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f } 8. Thé framers of the Constitution incorporated the duties of the State‘ -
in the constitution in the form of the
(A) Fundamental Duties

- (B) Fundamental Rights
(C) Directive princ’iple_ of state policy

(D) Rights of Citizen

(E) Answer not known

8 rdueeblieu o (reursdueiisdr <jélear sLawseTs rHueanlies

@Bs 6ulgeissled @&»ﬁgg,mr'r’.

(A) | Sig LILIGHL SL_GDLOGET
(B) <eiquiuent &l aninder )
©) @m@ﬂsirr @J@asrn'_(al_b QpHlpenser

D) EywasEssaTar 2 Nawaer

(B) oL Gsflucdooe
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9.  Match the folloWing :

1 (ay COz - , ' 1. Ground water pbllution and
S | particulate in air
by NOp - 2. Global warming
(o) Lead®Pb) ¢« 3. Acidrain -
(d) Hydrocarbons (HC) 4 ingredient for the formation of
= _ ~ photochemical smog
6 0 e
A 2 3 1 4
(B) 2 1 E
@ e 2 g
L e
(E) Answer not known
\Geireupeuareubeml GUTHSSIS
(a) COz e - : 1. fPesse 5 wreur® wHHID sTHHl
: , o GITeT &15(Eh(Th DM
(b) NOX _ o 2. uef G&;umumrrg;e'b-
(c) BSI'I'FI"U_JLbk(Pb) _ 3. <fle wep :

(d) eanr Grramiuer (HC) 4. gefl GafOuwe yasua
R @ : ® (FEUTEUSHETET (M PPELIQLIT(HET

BN (0 (d)
R 2Hp 3 1
g . g
(©) 3 2 It
® D) 2 4
(E) eler Qsfwelene

=R W
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10.

11

What kind of Dhoti worn by maternal uncle while singing lullaby
you identified? : |

(A) Silk Dhoti

(B) Sandal Dhoti

(G Thuvai Dhoti

(D) Mallu Dhoti

(E) Answer not known

STOTL(HL urLeiled smuiomer &l iy auhHb Callly aiams ergl?
(A) ul@ Cé@Jl'_Lor

(B) spger Ceully

(C) swas Gaul'lg

D) weog Ceul iy

(E) &len Gsflwelerane

“Utruzhi uthaviyum uruporul koduthum” —

What field is eulogised in this Purananootru Paadal?
(A) Education (Kalvi)

(B) © Charity (Eegai)

(C) Integrity (Nermai)

(D) Truth (Unmai)

- (E) Answer not known

‘2 Hpifl 2 gelluyib &QIQUW@G'!T QsTH&SID” — »
Cpsremid LinBrepmhmiliLITL & g eTser AplienLl auedunssidemms) ?
A) soei W e

B) reos

(C) Gprew

(D) oa@mero

(E) ol Gzfwefdrena

9 | 'CCSE2E/2024
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12. Which one of the following pairs is wrongly matched? -

Revolt Area

) _Ramosis e Poona
- (II) Kuka - Punj’ab-
(1IT) Santhals | o= Orvisma
(IV) Kittur —  Malabar

(4) (D and (IID only

(B) () and (IV)only
(C) V) only

(D) (II) only

(E) Abewor known

1966 (HLD @memaaaﬂeb gsauprareupern sarHidie :

Haris) LGS
D R -~ oy
@ @sr g e
(1) spsee &
(IV) é]_LGﬁ | — uSeuurrr’r

@) @ wppd (1) wr G
B)" (D) wppis (IV) wi G-
© V) v

D) () v @od

(E) eevr Qsfweierena

CCSE2E/2024 : _ 10




13. Select the chronological order of mentor — student chain in the

establishment of sciendific methods | : : . /

(&) Aristotle — Alex‘ander — Socrates — Plato

(B) Plato— Socréﬁes — Aristotle — Alexander

(C) Socrates — Plato — Aristotle — Alexander

(D) Alexander — Aristotle — Socrates — Plato }}
(E) Answer not known

allgrerar  pepasamer  Hmejeude eulbstiy — wreweul smdalew

sroalflesliLig CaibosHEsebd

(A siflevim g — oQassrari — sréred — 9Car G

(B) . 9Ger G - snéreed — iflavim g — HQavdsmamL i

(C) snsed — 19Cer G — <flevLm g6 — y@esFTaprLit

(D) <Qasstam_i— <AL 1cd — sréred — 9Cam CLr

(E) el @g,rﬂu_l@%bma)

* | 11 » CCSE2E/2024
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14. Find out the incorrectly matched.

(1)

(i1)
(iii)
(iv)
(A)
(B)
(©)
D)
(E)

Article 18
Article 21
Article 23

Article 20 |

(111) and (iv) are incorrectly matched
(11) and (ii1) are incorrectly matched
(i) and (iv) are incorrectly matched

(i1) and (iv) are incorrectly matched -

Abolition of Titles
Protection of life and personal liberty
Protection against arrest

Right to free movement

Answer not known

EpsaaTLcuDmET Sauprear @eamamel SaETL NS :

e L

gl o miiy 18

(1) e oguiy 21

@il) sl o mriy 238

B .
A)
®)
©)
D)
(E)

gLl 2 miiy 20

—  ULLESmET 6Ll&s0

—  2lireurpsed whmib seafl walls &spHrsdHarer

LIMGISTLILY

—  @sg dewwiuBeidled(hbg LITSTLIL

— aég(r_‘r;@qmnas BLbTheughamer 2 flenw

(i11) wppib (1v) seuprar Gevewt

(i1) wpmib (iii) seuprar Geaeamr

(i) wopid (1v) seuprer @) eamt

(11) wHyb (1v) seuprer Geemr

NlenL leﬂuaﬁ]@mm

CCSE2E/2024
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15.

Match the following :

(a) Non-Brahmin Movement

(b) Self-Respect Movement

() Shuddhi Movement

(d) Sathya Shodhak Samaj Movement

@ ® @ @

A) 2 1| 4 3
B) 1 4 2 3
() 2 3 4 1
Dy 1 2 3 4
(E) Answer not known

&@ésase&vrpmﬁ)mmu QUTHSSIS :
(a) nﬁ]r}nmmq@mn@gnr‘r Qussd
(b) swwlwurmg @uissD

() evosd @uissd

('d)» spw Gargné swomy @UISSLD

@) () o) & &)

G 2 WS 4 =
(B 1 4N 2 &5
CA T, 3 4 1
Bk @ 3 4
(E)

e Qzflueierena

13

Bl B

Jyothi Rao Phule
E.V. Ramasamy

Dayananda Saraswathi
Sri Sahu Maharaj

Gardlgreu LGe
.Qeu. grgmo
SLTATHS FTeveIs)

U &M@ W&ITe
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16. | Who among the following had started ‘Mitra Meia’ Association?
V(A) Shyamji Krishna Varma |
(B) Vinayak Damodar Savarkar
(C) Lala Hardayal
- (D) Sohan Singh Bakna

(E) Answer not known

' lﬁ]@iﬂm@maﬂmﬁ)@m ‘Wagm Cuert sussms Qsm_mdueur wri?
(A)  aywumbed Ameyam euior
(B) &Apmus sTCLrgit Errmfrésasr'r‘
(©) orem @ﬁgmnd‘f '
(D) Gsramer Am LseTT
(E) oo Gsfuicfevana

~ 17. Who founded the All-India Muslim League in 19067

(A) Muhammad Ali Jinnah
(B) Khwaja Salimullah
(€) Sir Aga Kby

(D) A.K. Faizul Haq

(E) Answer not known

SiaBBBHL peveid &% s few 1906-6 Hipeflug wnis
A) P510g ied) @mmn

B) saurgr sellapaa

0 & ivnnr

D) &.Gs. wusd ans

(E) ofanr Qg flwafidana

CCSE2E/2024 14




18.

19.

Which of the following bodies doesn’t/don’t find mention in the
Constitution? '

(1) National Development Council
(2) NITI Aayog
(3) Election Commission

(4) Finance Commission

(A) (1) and (2) only (B) (2) only

(C) (1) and (4) only (D) (1), (2) and (3) only

(E) Answer not known

EDsHTL  S@bliyseid e/ aemalser ST LIL|E &LLgﬁcb
STenTlILIL_aSlebenen ? :

(1) Csdw auerieds Gap

2 B8 2tuns

(3) Csised <ypeantuiid

4) P yoauwn

(A) (1) wppid (2) o0 Gty (B) (2) v o

(© (1) wpgid (4) @b (D) (@), (2) wpgid (3) @i
(E) e Qsfwiefana - '

Who among the following is the only woman historian to have
written a historical account of Mughal period?

(A) Gulbadan Begum (B) Zeenat-un-Nisa Begum

(C) Jahanara Begum (D) Zeb-un-Nissa Begum
(E) Answer not known

 Aéraimuaiis@Endt waomuisefer srosdd BLbE eugembm BHape|saar

arpdlu @Cr Queim cugemhm &R wr wri?
(A) Gouser Cusid (B) Hams-o dr-flar Cuaid
(C) sgsamyr Guasbd (D) Qgui-2 er-Hlar Cuasid

B oL Oshueiwena

15 . CCSE2E/2024
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20. Assertion [A] : 2-4-D is used as herbicides.
Reason [R] : 2-4-Dinduces production of fruits withou
fertilization.
(A) [A] is true, [R] is the correct explanation
(B) Both [A] and [R] are true
(C) [A]is false, [R] is true
(D) [A] is true, [R] is not the correct explanation
(E) Answer not known

gapm [A] : 2-4-D seasdsrodurs Qewudupdng
smyenrd [R] : 2-4-D H([HADTLOD &l 2 (HeUMs STTeRTOTEDS).
A) [A] sfwrerg, [R] sflwner eferésin
B) [A] .

(O [A] seuprang), [R] sflunerg
e D) [A] sflunarg [R] sflwrer elerssfladama
ﬁ : (E) e Asfueiapame

womid [R] efwirerg

‘I 21. Objectivity, Predictability and Generality are the features of]

(A) Scientific method
I : (B) - Scientific enquiry
(C) Scientific attitude
(D) Scientific experiment
| ‘ (E) Answer not known

LiDetwItiLIL L ge6sTento, @Gisr&smﬂuugg,mmm LOHMILD QuUTglemLDESETEnLD
‘c%gaﬂu_leow - Wletr YbFRIGETTS AL D).

(A) <Mleflwed wpevm

(B) eimelwe aﬂgnqmm ’
(®)) é}{ﬂ%ﬁlu_ld) LOGTLILITGHTEnLD
(D) eg{gf)]@ﬁ]u_la) LfiGersemer
(E) Mo Asfueidene

CCSE2E/2024 C e , ~ o
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22.

Choose the Sangam period in which the poet Nakkirar was
considered the most predominant poet :

(a) First Sangam

(b) Third Sangam

(¢) Second Sangam

(d) Fourth Sangam

(A) (a) only (B) (b) only

(C) (c) and (d) only (D) (b) and (c) only
(E) Answer not known

ECp QsrOsslulHetar srasdld p&ErT Ws psdlu q@)e;Juna; THSE FhIS
srosmss Cambsalrnad mSILOHSEDTT?

(a) s smsDd

(b) QBDGBT[_T)'H'LD gThIGLD

(c) @uerLmbd srisbd

(d) » BIGT&MD FhiGLD

(4) (a) LG | B) () wiEw

(€) (c) wpmud (d) LLED (D) (b) wpmd (¢) LG
(E) e Qsflueiicrana ,

One side of a rectangular field is 15 m and one of its diagonals is
17 m. Find the area of the field. :

(A) 80 m> (B) 100 m?

(© 11 m* ' (D) 120 m?
(E) Answer not known

@@ Qeaiais cugen Hosder @m Uss <aey 15 8 wLHHD ASET R
epeasll L b 17 S erafle, Hlegdler LiFliLeaTamel &TeTs.

(A 8082 (B) 100 .82

(C) 110 82 , (D) 120 82

(E) oflev QzsRwellcvened

CCSE2E/2024
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24. “Problem of the Rupee” is the thesis submitted by
(A) Dr. B.R. Ambedkar
(B) M.G. Ranade
(C) J.C. Kumarappa
(D) Mahalanobis

(E) Answer not known

“pumder Grésmar eemp < lieudEamaani . FOMIASSTT.
(A) LrsLi 9.y obCugs
(B) war. Gsm. yrerGL
- (C) Gx.8. Gwruur
D) wareGarmdev
- (B) e GsNwueioama
. .
g 925. Who wrote a series of articles entitled ‘New Lamps for Old’?
(A) Dinshaw WacHHl | '
‘ (B) Dadabhai Naoroji

| (C) Surendranath Banerjee :
| @) Auropio dlffch
(E) Answer not known ; | ‘ ' -
I , By, embuey surt Geurel ererayd  searide &L@GU)U’(&_?‘;V Qam_fener .

eT(PE WGt wim?

A) Séewr eunsen

(B) gng,ﬁunm QperCrmed
(©) sCrpdlyprs unerited
D) <relpGam Gameiy
(E) e Qsfuelopama

CCSE2E/2024 ‘ e ‘ ¥
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Which of the Vedic Gods is described as the “Destroyer of cities”?
A) Agni (B) Indra
(C) Rudra (D) Vishnu

(E) Answer not known

sarRsmer Sfliuet erety ohs Couss sLaier &@mtilu@)aﬂmnr’r?
(A)  osef (B) @pdyer

(C) ®mdyer - | (D) eflaiyan

(E) &Moo Gsfwusidame

Which one of the following is not correct about Harappan culture?
(A) All Harappan sites are urban character

(B) The Harappan cities depended on villages for food and
labourers

(C) Harappan remains discovered even at small village sites
(D) The most distinctive feature of Lothal is dockyard

(E) Answer not known

DT auHmIET anyriLT Breflsnd uhdl seunTear shm 6Tg)?

(A)  epguum (r_r;rra;lﬂa;gﬁsb S@asz QL rsEnd psy Breflad Carear. g

(B) anpliur peymisdr o amessrased, Laflumeris@hssraa)b Hymohisemer
EnipE BHsS! ‘

C)  anguur prafasder erésmser &l Srmohsaigid S sapg)

D) Caongseller dpliLibebd Genpsd <@ |

E) e Gsfwelidena

19 ' CCSE2E/2024
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28. If ABCDE = P1Q2R3S4T5 then which one of the following is equal

to QZBFV7A. : _
(A) BQ2V7GP1 (B) BQ2UGEP1
(C) BQ2V7EP1 (D) BQ2U6GP1

(E) Answer not known

ABCDE = P1Q2R3S4T5 erar @mpsmed Wemeumauaraupmer QZBFV7A

GTETLISM (& FLOLOMETG| 6TH) ? v
(A) BQ2V7GP1 (B) BQ2UGEP1
(C) BQ2V7EP1 | (D) BQ2U6GP1
(E) &Mevr Qzsfweildvene

~ 29. Gopi sold a laptop at 12% gain. If it had been sold for Rs. 1,200
more, the gain would have been 20%. Find the cost price of the
laptop. :

(A) Rs. 15,000
(B) Rs. 16,000
(C) Rs. 14,000
(D) Rs. 15,500

(E) Answer not known

Gamd m wbyssaiaiow 12% Qerusdbe eAporr. Goib os

. 1,200-6@ m@sors odpd@perd @eorun 20% s Q6GHIGSEWD-
i ssailafufen oL és almuamus STeas.

(A) em. 15,000
B) . 16,000
©) . 14,000
D) . 15,500
(E) &Moo Gsflueiaens

CCSE2E/2024 20 .



30 A force of 1IN acts on a body of mass 10 kg. As a result, the body
covers 100 cm in 4 seconds moving along a straight line. Find the
initial velocity of the body.

(A) 6cm/s

31.

(B) 5cm/s
(C) 8cm/s
(B) 12 cmis

(E) Answer not known

10 fCar erenLwjerer @ Gummeies 1IN eollene QeweLHDsH. @ser

edenereuns oipg Qumrmper 4 efarmgsefles 100 Qe CpiGsmiged BaHLD
crafled gem oL Coussamss sarmLHlwiaib.

(A) 6 Qe.b/e0ermg
(B) 5 Qe.b/efermg

(O 8 Qs.15/cfanmy

(D) 12 Qs.8/e9armg
(E) e&lenr Gsfwelerena

Green light shines on a rose flower. Then, the colour of its petals seems
to be

(A) Green (B) Pink

(C) Black (D) Red

(E) Answer not known

am Crmgr Bpliyele usms gafl @efradsdps. é{LJCSLIITQJ S| S6iT @g,@a;aﬂm
@mmrra;g, ng,rrasrgjmgj ,
(A) vsms : (B) Qeueflirflauriy

(O) smuy ' (D) Qauniy
(E) e Osfueiaama

21 CCSE2E/2024
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392. Assertion [A] : Swami Vivekananda founded Ramakrishna

Mission to popularise the teachings of his master.

Reason [R] - Ramakrishna Mission was a monastic order and
| “devoted itself to the spiritual development of Man.

(A) [A] 1s true, [R] is false

(B) Both [A] and [R] ‘ére true and [R] is the correct explanation
of [A]

(C) [A]is false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A] ’

(E) Answer not known

smpm [A]  :  seumd ACeusranpst  serE Gmelar Cuisemers®er
um;lru @umrod megennt Wegeer HlmiederTi.

smyaurd [R] @ @urodmeyentt Wage @@ DD WL LHDID g
welgafer <yanbs cuaniEdlsE serear TULMISSS!.

4) [A] &, [R] seup

B) [A] wpmb [R] M, [R] [Algyen w sfluner eflerdstd

(C) [A] seum. [R] &

D) [A] wpps [R] sf wyame [R], [Aldigion w sfurar elarsaioae

(E) &lenr Gasfweferena

CCSE2E/2024 ’ e =




33. Match the following :
Part I
(a) India
(b) Japan
(¢) United States
(d) China

Codes :

@ ) (e G
(A) 5 2 3
(B) 2 1 4
C) 2 4 1
D) 5 & 1
(E) Answer not known

DD W Ot

V Yereupeuameupenn CQLTHSSIS :

uEs I
@) @pfln
(b) siLimeir
() <=QwAssT
(d) e |

@O Oser :

% GF © (@
A 5 2 3
B) 2 1 4
) 2 4 1
(D) b5 3 1
(E) e Qg,lﬂ‘u_laﬁlebémw'

D W Ut s

- = e LB

i e e

Part II
Bald Eagle
Dolphin
Peony
Cherry blossom
Royal Bengal Tiger

L@d 11
AU(PEMS (PG
L_meb19l et
Cwmefl
Q&rfl weaT&s

OTF GUMIGLIL|E0

CCSE2E/2024
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34. Identify the correct expansion/meaning of “CEDAW”
(A) Convention of the expansion and development of Adolescent
- Women
(B) Convention of the execution of different ideas for women

(C) Convention on the elimination of all forms of discrimination
against women :

(D) Congregation of the eradication of all forms of discrimination
against women :

(E) Answer not known

Gerauaiaaipe “CEDAW” eaamp  afflaunsssder/ Qunmener  sflumss
Csiib0gH&se]Lb. : .
(A) eeri@erid LmeuLIQuaTseier wparGarmmd wHmD elfleurss wrBTEH
(B) Quansepsstar LOCan HHSSI(HEIMESES®ET  FOL(PODLILOSSHID

LOMBT(H
(C) QuearsEnse adrmar s@asg g LUTGUT g@anb béGaigharer
. LOMBT(H
(D) QuarseEns® adyrar Smagg 6ls UTGUT G@arD @UILLSDHETET
genL | | _

(E) e Gsflweicrana

 35. Which one of the following 1s a one-stop source for all the geospatial

“data for the state of Tamil Nadu?

(A) Tamil Nadu Geographical Positioning System (TNGPS)
(B) Tamil Nadu Geographical Information System (TNGIS)
(C) Tamil Nadu Global Information System (TNGIS)

(D) Tamil Nadu Global Positioning System (TNGPS)

(E) Answer not known

sODHBETH wiblosdharar Smasg Lellulued sreisEnsEn Qermau(meuaraubbled
gl Gy QL sl o eTarg?

A) sBOppTE Yefulwed HlaneliLhiEse el

B) s0PBTH Yelulwe ss61ed el

(©) sHpprH > wseTTedL SEGUD DDLU

(D) sBpETlH sy HlaolubhEse Sl

(E) oevL Qafwelldbena
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36.

317.

If 1, 2, 2, 3, 3, 3 are the faces of a die, 2 such dice are rolled; In how
many cases 2 die face is bigger than 1st die.

U 3

(B) 3§

© 8

@) 11

(E) Answer not known

1, 2, 2, 3, 3, 3 wawdisdr Carar, @)@ LUsmL&6T 2 (HLLUubib Qums,
(PS5 LiseL wen s wHuemu &Sl @ el Teug LsemLudler (5083 Sl
SIS ©)(HES G)_IITU_II_II_[5361T TEHSEET ?

A) 3
B) 5
(C) 8
@) 11

(BE) ofeni Qs fwelerene

If Rs. 10,890 is divided among A and B groups in the ratlo 4:5 then
the group B’s share is

(A) Rs. 1,210
(B) Rs. 4,840
(C) Rs. 6,050
(D) Rs. 5,445

(E) Answer not known

e 10,890 & A‘LD’@QJL'D B aam @® GP&5EHEE 4:5 e lfssdd

9fsg15 Qarhssred B gueln@ daLsen Ggrams ererer?
A) . 1,210 '

(B) . 4,840

(©) e 6,050

(D) . 5,445

(E) e QgMwaerame

25 ‘ - CCSE2E/2024
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38. Match the following correct Institutions with its location : |

(a) NIFPHATT 1. Bangalore

(b) CICEF 2, Kochs
| () NEDD 3. Chennai
(d) CAA 4. Hyderabad

@ (b ‘e - @
(A1 B
@2 a1 s
@9 "1l 3
@31 e 9

(E) AnsWer not known

Yemeupid Blpesemasemer @iger sflwumar Q@muld. sz 6 QurmssaL :
(a) NIFPHATT 1.  Quiisenm

(k) CICEF = 2. Qand
(cc NFDB 3. Qeerenar
(d) CAA A 4 @ADSTTLTS

N © @

) N’ 2 3 4
(B) ‘2‘ 1 1 3
& oL
) P4 g

(E) e Qsfuiciiorenes

CCSE2E/2024 , e




39. The Gupta emperors before Chandragupta-II jssued 12123 4 S MORE I

coins.

A) Gold

- (B) Silver
(C) Tin
(D) Copper

(E)  Answer not known

QueLmd  spdy GLSBEE PEPSW GG  enariseT
premwmisanar i HGCw Qeueflud | ars,

Q) susb
- (B) Qeusref

(C) sapw

(D) @mu

‘7 (E) e Qsflweldrene

40. - Haque-i-Sharb (or) Hasil-i-Sharb means

| (A) Land Tax (B) Irrigation Tax
’ (C) Commercial Tax (D) Toll Tax
(E) Answer not known

ADME-E)- a3t Sideg anebled-@)-asmi FeTUgSET Gurmer

A) e el (B) ffTL'_JL_H'I'EF‘GET cufl
C) aals e (D) =ms
(B) sor Asfusiome

s | 27 , - CCSE2E/2024
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41. The Neyveli Lignite Corporétion was established by the
Government of India in the year

(A) 1956 o (B) 1972
(C) 1980 (D) 1959
(E) Answer not known

ApwiGauell  alsevan  smiLGTage Apaard @Qpdu  sigered  erlGLmg

Bimieuul L gi?
(A) 1956 _ (B) 1972
(C) 1980 L » (D) 1959

(E) &fen Qaflwcliidene

42. Arrange the following universities in chronological order based on
the year of establishment : |

(1) Manonmaniam Sundaranar Univérsity
(2) Bharathidasan University

(3) Thiruvalluvar University '

4 Periyar University

@ 2,0,.0,6 B) @), 1), @, 3)
| . © O, @, ®. 3 . 0O @B6.6.e
‘ : (E) Answer not known
QeTauHd LOEMOSHPSEIGMET Siaal HIMIGIILILL 6HTiq 6 sTeMegLILIg
l R(DBIGELDESHELD : » - ‘
(1) o Garmeroamflwih GHSTANTT LIS VSSLELD
(2) umgdsreen ueba;sm@é;asgasm

(B) HmeudEseul LOSMDEHPSID

l (4 QuAwNT UBEMOESHPSLD
@ @, @, D, ) | B) ), (D), @), ()
B © ), @, @, O L D000

(E) Mer Qsflweiweme

CCSE2E/2024 28 , &
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43. Arrange the following studies of Poverty in India in chronological

order :

(1) Ojha’s study

(2) Bardhan's study

(3) Minhas study

(4) Dandekar and Rath study
@) @, @, 1), @ -

® @, @, 3, Q@

© 3),©@, 1, @

D) @, ), (), @

(E) Answer not knovs;ﬁ

@pdwrelles  eumentd  UpPw Saaumhd QUesemeT  STeeuflendgLilg
GR(LPRISELDESALD :

(1) emr e
(2) ufsmen <piie]

(3) WBerammev yuiey

(4) g,mQLaﬁ Loﬁ)gufo jng, Spuial
A) (@), @, 1), (3)
B) (1), @, 3), @
€ ©), @), 1), 4
D) (2), D), (3), @) o
) oL Asfucioae o » | S

3 29 CCSE2E/2024
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46.

What 1s 20% of 30% in 5007 :
(A) 30 B 150
(C)- %5 : (D) 100
(E) Answer not known ‘ ‘

500 @ar 30% wAiiGe 20% earar?

(A) 30 v (B 150
(C) <55 (D) 100
(E) e Gsfweldama ‘

Find the missing number in the series.

4, 18, 2, 100, 180, 294, 448 |

A 48 (B) 50

€) ..58. (D) 60

(E) Answer not known :
QerRssiiu L QsrMed(mhg eNHULL cramemeanTs &Tas.
4,18, 2, 100, 180, 294, 448

(A) 48 N (B) 50

(C) 58 (D) 60
(E) elen QsAweleena

The sum of first n natural numbers is 253, then find the value of n.

@A) 22 (B) 18

(C) 2@ e

(E) Answer not known

WD n Que eramsaflan s 253 erafldd, n-@er WAL SreTs.
A 22 (B) 18

(C) 24 (D) 16

(E) ole Qsfweldame

CCSE2E/2024 Lo g ' *




A7,

48.

‘Which of the following Harappan sites are not in India?

(A) Mohenjodara and Harappa (B) Lothal and Kalibangan

(C) Bhanwali and Ropar (D) Surkotada and Dholavira
(E) Answer not known

Spsea@TaIbmieT hs anyiur prsfss sammsdr sHAUTWS @b LTede
@leene ?

(A) QursepestCrr wpmbd engriur — (B) Camgger wpmid smadluikiser
(C)  Lareumed LOMID eHLIMT (D) &iCsrimim wpmidb Cememedyr
(B) oL Qsfueldae

Around 25 districts in the east coast; 10 in Tamil Nadu,
7 in Andhra Pradesh, 6 in Odisha and 2 in West Bengal - are
vulnerable to cyclonic storms. Among these, which area accounts to
70 percent of the cyclones of severe categories?

(A) Chilika region
(B) Nellore region
(C) Machillipatinam
(D) Sundarbans Area

(E) Answer not known

Sp&@s sLpsmruiled somm 25 wreul L kiser; sSlpET g 10, <pdlrraier 7,
@usmeiléd 6, oo CohEe anssdd 2 - Gpreefl  Ludsermed
urdlssliuL &enlgienel. Qaeidpdled, hsll LGHUTETE SH@DWTET UML)
Huesaefled 70 gg6is Lndlienu oeLwyb?

(A) S LGS

(B) @p@@nr‘r UGS
(C) weEASuLLarTid

(D) apsreuaniEd
(E) eYenr Qsfwefdvana
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49. The United Nation has declared 1987 as
(A) International year of Girl Children
(B) International year of Shelter for the homeless
(C) International year of Women
(D) International year of Cleanliness
(E) Answer not known

1987 — 8 —————— A& R&HW prLH seou é{@@ﬁ]gg@]:

(A) sieuCse @uemrr GLPHDSEHET %@m@\ '

(B) gieuGse 2 el b GldanseTsEnés amg)aﬁh_m @Jg;rsj@w cszsm@
(C) siauCse wseflissTar 2,6

D) siauCss &5SSE HaTan <y aTH
(E) &l QsNweldene

50. In which year Flipkart signed a memorandum of understanﬂding
with the Tamil Nadu MSME Trade and Investment Promotion
- Bureau?

(] 2021

(B) 2018

(C) 2001

(D) 2011

(E) Answer not known

ahs <par®  Gefluismil, g,l_&%p‘r_r;rr@ MSME aiiggan whmbd s
| Gva;@@ﬁ]uq qrﬂ‘r_sgsmrrm uasvﬂu_na;g,@u_m RULBSSS D eSS L g2
I ' - (AR 2021
o - (B) 2018
b () 2001
| (D) 2011

(E) e QsNwelerena

CCSE2E/2024 g » - %
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.l\')

It cat=abc

dog:def
Then which one of the following may be equal to E%
. co

@ . ® 2=
: aec : . dee
o T

ace - ‘ . aec
(E) Answer not known
cat=abc ' 4e o - tan : G . :
dooeder eram  @\(HbSmed T Gremug QTG (THEU TG HMIET Grg,szsrrra).
@,r_f)]asa;uul_a)rrmO ‘
@y = | e

aec 4 ace
(C) cbn (D) cbn

ace , aec

(B) &l Qasfueidene

E&GBDM4NKH2ACZSV3F1JLOQ5PR

What will come in place of question mark in the following sequence?
GDR BMP D45 2 '
(A) MNQ s Gt (B) 4NQ

(C) MKO (D) M4Q

(E) Answer not known
E&GBDM4NKH2ACZSV3F1JLOQ5PR

et GHUILH&SL! u@a)rra; GU(mHLD QETLIT eTg) ?

GDR ¥MP D45 ?

(A) MNQ , (B) 4NQ

(C) MKO L - (D) M4Q

(B) &fewr QsMweldena :

CCSE2E/2024
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53. Assertion [A] : In India, the traditional small scale industries
have greater employment potential than the
modern small scale industries.

Reason [R] . : The value of capital per worker in traditional

small scale industries is smaller than the value of

capital per worker in the modern small scale

) industries. : A
(A) Both [A] and [R] are true and [R] is the correct explanation
of [A] ' | , ' -
(B) Both [A] and [R] are true but [R] is not a correct explanation “
- ol JA] jf“

(C) [A] is true but [R] is false | : ;
(D) [A] is false but [R] is true ' o ‘1

(E)‘ Answer not known

spm [A] 1 @pHwurede Lmrbufw SnQgmdsar LI

' CoumTDTLEHLY HEREH S Azmssemensi
QULDEI (&) T &l

 smyanrd [R] urgbuflu ApGsrfaosaie Asreorarmrsd CameauliL@nb

g LA Gopeursab peiar &m Ggmpdsafe
Qerferermée — CosmeuliLi(id ELPEOS T &Ly
S SHLISH6D 2 6TeTg). :
(A) [A] vpmo [R] @Qraneon el wpmbd [R] eremug [A]éaasrrarr gflwime
efler&sd ‘ :
B) [A] vopp [R] @raneon &l eme [R] eremug [A]uﬁ]m sflwimrer
l elletésd @evene :
(C) [A] sl e [R] seumi
| (D) [A] seuy pama [R] &
(E) e GQsflwaideana

CCSE2E/2024 4 ' 3
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4. Which of the following is correctly paired? ‘

(i) Hematite Ore — Oxide of iron .,’
N
(i) Magnetite Ore — Black ore |
|
(i) Limonite —  Dolomite |
(iv) Siderite —  Iron Carbonate g
(&) @) only
. . |
(B) (i) and (iii) only ‘
(C) (), (ii) and (iv) only
(D) (i) and (iv) only i
(E) _Answ_er not known , » o ! ~ '
lﬁ]meﬁ@mmmﬁ)@m crevey EAWLINS @memésésuul'_@dmfm? i
o (1) QamwenL L g,r@ - @mbler %é;GmGG

(1) CuosaeLl srg = &GUY 575
(i) AGwrenam & \ G;nmmmr_
(iv) A et ‘ W @y srruGer.
@) () oo
B (i) wppd (i) wreo
© @), i) nppi> (v) ween

D) (i) wppid (iv) i G

(E) eoflani @grﬂu.laﬁ]ei)mm

€* b o BEL e ' CCSE2E/2024
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55. Assertion [A] : Backward class commission under chairmanship

of B.P, Mandal was app‘ointéd by the President in
exercise of the powers confessed by Article 240.

Reason [R] :  The commission has developed eleven indicators

(A)
(B)

©)
(D)

to determine backwardness.

[A] is true but [R] 1s false

Both [A] and [R] are true; and [R] is the correct explanation
of [A] :

[A] is false, [R] is true

Both [A] and [R] are true; but [R] is not the correct explanation
of [A] ' '

(E) Answer not known

ganm [A] p strodfley  240em - e | BAH@E — GUPRISLILILL

é{;ﬁasmjg,@muq mamglud  B.P. pveawe  eremuicueniy
GouBSsLULLL  UGUESTHESTET 4TS SEDOEUTTE
BlLOS ST

smyenid [R] 1  @éieureamuin Garsmdlu Hleoovomw Sronallss Lddanmm

(A)

B)

(©)
(D)

(1)

GSDSTL g HEMET 2 (HeUT&HE W eTerng.
[A] sNwreng <parmed [R] seupreng

[A] womd [R] @reo@n sfwreaig; Guoaib [R] %mg [A]le9pasmer |

gilwmer efer&Hsibd

[A] seuprang; [R] eflwireng

[A] LDg’)guLb [R] @rempid sflurarg; <pemed [R] wpeng [Aledpsmer

FRlwmer aNeTéEHD iched

MlenL Qg,fﬂu.:@ﬁh;bemu

CCSE2E/2024 | ‘ 36 ' ¥ 1




56.

o

If fox=cat then xerox may be equal to

(A) terct
(B) teroa
(C) terot
(D) terat

(E) Answer not known

fox=cat eraflé> xerox erénis esmar G &@HD? : H

(A) terct
(B) tcroa
(C) terot
(D) terat

(E) o&fle Qsfwefcrane

Three dice thrown at once. Find the probability of getting same

numbers in all dice

1 1
A = B) —
@) 6 ) 216
” 1 1
C T ) -
© T ) 5
(E) Answer not known
QPEM - LISELGET QaTDms 2 (B uuBnCung ADaSg LsoLudid Gy
oTa Slevl &5 Blahssae CTEITET 2
1
A) = B)
) 6 & 216
1 1
& = ) —
© 36 : 2

(E) oL Gsfweldma

CCSE2E/2024
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58. A tribe of India is

(1)
2)
3)
(4)

Connected with Eklavya in the epic Mahabharatha
Lives in Aravallis, Vindhyan and Satpura Ranges
Hutment on a small Hillock

Maize is their staple food

Which tribal group of the following suits for the above conditions?

(A)
(B)
(©)
(D)

(E)

Gonds
Todas
Bhils
Santhals

Answer not known

&ggésasrr@]fo s mIsEnEE L @blwurelar g Lipki@iyuand erg ?

(1)
®
3)
@
(A)
(B)
(©)
(D)
(E)

L&TUTTS @ESTE SSTILTSSTD Tl 6T OFTL L LaiTsEr

< Teuel, efpEL LHYID FSLTT LewE OFTLiaed GUTLDLIGT&ET
Al @'@T@]B;Gfﬂsb.@mrm& SIDLOSSED

wé&nE CenerGLo Grgrer 2 anrey

Carevsr (Haer

Cariiaer .

9eveiv

&ﬁ@gé)&m

elen Qzfwalcrena

CCSE2E/2024" 38




Inorder to double the Farmer’s income through digital technologies,

action should be taken from

(1)

(11)
(ii)
(iv)
(A)
()
(E)

Technology generation and dissemination, policies and reforms

and development initiatives
Policies and Reforms
Reforms and Development

Artificial Intelligence
(i) only | (B) (i) and (iv)
(11) and (ii1) (D) (v) only

Answer not known

gl Lo Aemfldml Lkiser apeid alausmuilsefler aumprarsms @m_u]_uunasas

aThss Couamgw pLolg&ens

@)

(i1)

(iii)

(iv)
(A)

(©
(E)

QAsmfeomr U o (peirdsid LYWL ured, QsmdTwssdr WO

ETS(HESmEET LHPID eueTids] sasdser

ClameTanss@nid, Eidlmesnisenib

.ﬁﬁ.é,]@gg@as@m, werGerdHmpLd

@Elﬁﬁ)ﬁb’)& El e e dleyid

(@) L o B) @) wppid (iv)

(i1) womib (iii) D) (v) bLED

aSlenL Qs flwelerena
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60. Match correctly the following foundations with their corresponding

names : |
(a) South Indian Liberal Federation . 1.
(b) Kudiyarasu Journal . _ 2.

(c) Emergence of Labour Oi'agnisations 3

(d) Swatantra Party ‘ 4.

@ @ @& W
(A 4 i
(B - 1 2
[y 4 a0
D)y 3 4 1.
(E) Answer not known

BB oo o

QGEHQJ@LD Sl SHETRISDET )| Qg,'m_r'rqml_u
QuUTHESIS : ' .
(a) Qgerafitdu pe o faos srELD | L.
®) Guus @sp
(c) Qsmfererit SewLiLsaier CamHmLd
(d) sspdy sé .
. &) (© @)
A\l o 1
(B) 4 1.0 2 3
4
2

SR

(C) 4 g 1
e e L
(E) &fevr Qsfwelerene
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A. Singaravelar

- C. Rajagopalachari

Thanthai Periyar

C. Natesan

QuuiresGerm(® &rﬂun$ :

A. ArsmyGauai

C. prgCarunensm
spes Quiflum

C. g,(zl_ée'm




61.

62.

A can finish a job in 6 days whereas B finishes it in 12 days. Tha=

time taken to complete the job working together is ———?
- (A) 6days (B) 4 days
(C) 8days _ (D) 3 days

(E) Answer not known

A eremuait g Cauameew 6 priseflaid B erarueut 12 preseflgnd @pigrins
erafled, @ meupld eempras Caibg <bs Colmeaws eTsamer Bl sefle

- (Plg LILIT?
(A) 6 prser _ (B) 4 priser
(C) 8 prigar - (D) 3 prisdr

(E) eflen QzMweidene

A swimming bath is 24 m long and 15 m broad. When a number of
men dive into the bath, the height of water rises by 1 cm. If the
average volume of water displaced by each man be 0.1 m?® how
many men are there in the bath?

A) 32 | B) 36

B (D) 46

(E) Answér not known

e BEse @end 24 S Berapd 15 Bt @185@)@[0 QamearrLgl. @D

cramanilGamauleorar G ansdT Hss GasHd GHEGD Curg, Bher 2 wgb
@ G5 o widlng. em < syreflurs QeualCupmib Bhear <erey 0.1 15°
aafld <ibs Bisd GasHd cTHSMET Y E@THET 2 GTETETIT ?

(A)\B2. ; (B) 36

C) 42 N (D) 46
(E) oo Qsfuiefidena
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63. Which of the following statement is colrr,ect?. -
(a) Equitable ,developvment‘ 1s th‘e‘ma‘ih‘ target of Eleventh Five
Year Plan XLFYP) ©° ‘ '

(b) Rapid, suStaihable rand'moreA inclusive growth are main targets

 of Eleventh Five Year Plan.
ﬁ '(A) - Both (a) aﬁd (b) are cox:':rect
"(B) \(b) é‘lbne 1s corfecf .
y heo (C) (a)'aloﬁeis correct .
i (D)’I Both (a) and (b) are iﬁcdrrect
(E) Answer not krllown -
e  GemeuhelaTelHmIET 6Tg) &'rﬂur_rmeém?? .
! - @ FLDSE|GU DTG @@@WDLDL'D 1«‘1’@@{ gﬁ,gns&m@ﬁ S gdldn Cﬁ.’gmasmn@@‘
| - () =fGasoran, iﬂ?"““@mﬁm oHmih g{@aauqm}rm o GTaTL Sl mmﬁ&%
1leug gﬁ@ﬁaﬁm@g_,ﬁiggﬁm @ésaﬂu @.gpnésa;@a;mr_}@m -
) (@ whpid (b) GreawGid surarwes |
('B) (b) _LDI;—(BLb‘&ﬂwmsl o
'(C} (a) oL @it grﬂmm@
D) (a) wpgd (b) Grar@in g,eu.‘mnmémm .”
i . oL Opfucdaoma

CCSE2E/2024 4 .




64. Densification and cdmpaction are unit operations that are used to
increésé the bdensity of recovered materials to reduce transportation -
costs and simplify storage. This method is used in
(A) Composting of degradable waste in MSW
(B) Transportation and Transfer station étorage of MSW
(©) Construction of Landfill site for MSW
(D) Processing and’ the Recovery of waste components from MSW

(E) Answer not known

SILTHS HDID sHESD gy CursEarsss Qsmasmand @mmﬂugm@m,
(E&L&uuasg,mg, aallsréGeusHEn.  BLALEESsHLLL QuimmL_serfler
SiLigdlow sfsfssl LuaTURD 0@ QFuOUTRSET UEL. @BS P

Weeupid eThg (pempuiled LweTu( S50 UREDg) ?

(A)r MSW@@ &G GUePLSEe 2 T0TEESO ’

(B) MSW@G&C‘&UW&;@G}J!}{& Lopo uforpp Heew Calliy

=
=3
= =

~

& =__(Horerd -

(C) MSWsasnar fleon Byous sz

Gy

D) MSWalmig sifley sspsames Gevarzgsd wppid B QL Qs

(E) oflen Gsfwelerena
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65. e Pakistan resolution was passed by the All Indiz Muslim League

: 1tz Lahore Session on

(A) March 5%, 1933

(B) August 5th, 1}933
(C) March 234, 1940
(D) March 22nd; 1941

| (E) Answer not kﬁbwn

ol @bdu  wpevadd &S urdlevgner SMomarsms T  OTBTL g0

mis@ur_r@g HlenmCeumdluig) 2
(A) ionié 5, 1933

®) e SNoSaf
(C) wrre 23, 1940

D) ionie 22, 1941

(E) ofen Ggfweierena

CCSE2E/2024 : 44




- 66. The curved surface area of a right circular cylinder of height 7 cm 1
66 em2, Find the diameter of the cylinder.

A} Zem

{1 A
{ L&} 4 cm

(C) 6cm
(D) 3cm
(E) Answer not known -

86 5.0&.8 cuemeripliLenLwi gF Chieur_L g@mmuﬂ]@r o wyd 7 Q&8 @ e,
o meneTudlem 69 L D &TeiTs.

(A) 20s.8

(B)- 4Qs5.8

(C) 6Qs.8

(D) 3Qs.6

(1) efleni @gfﬂu_mﬁ]@@@)

(3]

The value of a motor cycle 2 years ago was Rs. 80,000. It depreciates .
at the rate of 4% p.a. in first year. In second year it increases by
4% p.a. Find the present value.

(A) Rs. 76,800
(B) Rs. 80,000

(C) Rs. 80,128

(D) Rs. 79,872

(E) Answer not known

B 587 QUTSEID enDiaT 6191@961) @) yessr(p) cog,ﬁm@as@&@ apar ep. 80,000.

W&o werh myhE 4% Goping. Gramd parh 4% @a;rﬂaséé]mg;}
erefled sigerm sHCLTaSIL edlaned erare ?

(A) em. 76,800
(B) ¢. 80,000
(C) . 80,128
D) . 79,872
(E) e Gsflweiidvena

45 . CCSE2E/2024
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68. Match the following :

(a) Tax Revenue 1.
(b) Non-tax revenue 2

(¢) Capital receipts 3.

@O0

) 3 1 o
y 1 2
o2 - 1 =
i) 3. 9

(E) Answer not known

e meuaaupenn QuUTBHSSIs
(@) el augmeumil 1

(b) eufl é{ei)eurrg eu@peumds 2.

() apagar régiser 5.
(@ (% 9

Q) 34 & BN

® 1 N 3

e, = 3

o3 2 i

(B) e Asflueidame

CCSE2E/2024

Interest receipts
Net market borrowings

Taxes on Income and Exioenditure

@il 78g)
HaT FgHensd SLemaeT

au@pLorer wHnibd Cgwe| Wsrer euflger

foc Lo nbiont st dow | cond

T o %
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69. According to 2011 census, the density of population in Tamil Nadu
15
(A) 450 per square km
(B) 555 per square km
(C) 650 per square km
(D) 750 per square km

(E) ‘Answer not known

2011 wsser Ggrens sams6sH LS ey guﬁgngqGﬁ &&ET (BTG LTSS
(A) 450 g sgiy S8

(B) 555 g s &..8

(C) 650 @@. sgiy 8.8

(D) 750 g g5y .18

(E) &Mev GsfMwefeens

70. Tamil women who were competent in literature, music and drama
were called as

(A) Mudukkuravai

(B) Mudinmagalir
(C) Viraliyar

(D) - Kanigaiyar

(E) Answer not known

Qosdwubd, Qg BILESD dluieubdle C@gjrr&éi Qupp sWpL CuaTser
GTGD) DGLPESLILILL EuiT.

(A wssED®6
(B) @yenosafi k
- (C)  efgewir
(D) seaflevsuwir
(E) oenL_ Qg;rﬂméﬂ»@i)emm

E ’ AT - CCSE2E/2024 J
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71. The northern upland of the Karnataka Plateau is known as

(A) Malnad

(B) Betwa

(C) Dhasan

(D) Maidan

(E) Answer not known

STBTL& 1Ly L68luGebr QULES ﬁmumyuq : e
Si@&sLILGHSDg. : =
(A)  wreBTE

(B) Quieur

(C) snsar

D) ewLmer

(E)

allenL QsMwaldvene

72. Which Ministry launched the Digital Ih’_celligence Platform (DIP)
and ‘Chakshu’ facility on Sanchar Saathi portal?

(A)

(B)

©)

D)
()

Ministry of Power :

Ministry of Civil Aviation

Ministry of Communications and Information
Ministry of Earth Sciences

Answer not known

THS @EsSD FGETT snsd GUITL LD el L& mawade S6TD HYID
‘Frsese eusdew GsTimdug ?

(A 106 i@dinEFSID
(B) #ia dwrer CuTsEaTSS SI®LESSID
(C) ssae Qsmiiy Si@wEssbd
D) ydl Sdfwd mw&FsLd
(E) o&fen QsAwefcrene
|
|
CCSE2E/2024 g ¥
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73.

74,

Find the simple interest on Rs. 68,000, at 16%%7 pér annum for

9 months. _
(A) Rs. 7,500 _ (B) Rs. 8,500
(C) Rs. 6,500 (D) Rs. 5,500

(E) Answer not known

&R Ul ly eldlgID 16%% erafled em. 68,0005 qerug WISHIsEHEE S6
QUL g GreTe?

A) e 7,500 | (B) es. 8,500

(C) m.6,600 (D) e. 5,500
(E) e GgMwelerena

IfA:Bi€=2:3:4 then éﬁg1séqual1:0

— din C | A

(A) 8:9:10 ' (B) 8:16: 24
(C) 8:9:24 . \ (D) 24:9:8
‘ (E) _ Answer not known :
A:B:C='2:3-:,4 a@ﬂ@%:—g—-:%mmgﬂmq

(A 8:9:10 (B) 8:16:24
(€) 8%9:24 ' (D) 24:9:8

(E) e Qsflucddame




75. Which among the following is correct regarding the target of literacy
' in Tenth Plan?

(A) toincrease of literacy to 75% within the plan period

(B) toincrease of literacy to 80% within the plan period

(C) toincrease of literacy to 70% within the plan period

(D) toincrease of literacy to 85% within the plan period

(E) Answer not known |

Qereumeuamaupmiet  Lisgnam® sresdd eflurar sdelwubey Qsmiruren

Qs » : '

(A) Sl ssresde 75 Aupssm s soelubeln 2 wial

(B) gl ssmrosded 80 alpssr s svaludeld 2 wiray

(C) Frssmesde 70 eipssr s soeludedsn 2 wia]

(D) 1 ssrasdd 85 allwssr s soeludeis 2 wiaj

(E) el Qsfueidene

76. Consider the followihg statements and identify the correct answer :

(A) The Central CIC is eligible for reappointment but the State
CIC is not eligible for reappointment _ :

(B) The State CIC is eligible for reappointment but the Central
CIC is not eligible for reappointment

(C) Both are eligible for reappointment

(D) Both are not eligible for reappointment

(E) Answer not known ' | ,

Spsraib sppisemer sl Qanar®, sfiurar el mwus Csrb0shHss :

(A) LU BOWID FEEID D@ETILIHES OIBLLETD FTSSWLID, BpaTTe

: LOTHle MWD FH6ID AEERTILI(HEHE LYBEWLDEID Tédwnde

B) vmfe soomw ssad G@anuEBsE LYBLDED FTESLID, SaTTD
OGS OO FHEID DenanTILI(HEE LHBILDETD sTES Lo

C) @waumsstn vyPuwand srsduibd

D) A@eumsEtn wyHlubend rsSunda

(E) efen QsNweferena '

CCSE2F/2024 , 50 - %
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7.

Recently in Dubai, cloud seeding technology is used to get artificial rain.

The most commonly used seeding agents among the following are

(1)

(2)
3)
(4)
()
(A)
(B)

C).

D)
(E)

Sﬂver 1odide
Dry ice
Sodium chloride

Lead 1odide

Ammonium sulphate

(1), (2) and (3) only
(3), (4) and (5) only
(1), (3) and (5) only
(1), (3) and (4) only

Answer not known

samennulde, gumbe Gus elamsiy AsmfomL ub Gaupeas wawamw Cup

LweTU(HSSILIL L g

19l 6treu (meu e HMI6T GTEmaU Curgleuns cdlensLiL @&@ﬁémna
o LCWrASasLILHSS LGS e ?

(L)
(2)
3)
(4)

5)

(A)
(B)

©
D)

(B

Qeuerell GumenL_ B
2 e Lafl |
Camiguilb @@Gﬁrrmrj@
F Curen @ -

<bGuraflwbd sgbGuL

(1), (2) wpgd (3) i Gid
(3), (4) wpgid (5) wLEW
(1), (3) wHmibd (5) LD
(1), (3) wpgid (4) LLED
cflenL. Qgflweierena
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78. Arrange the following eveknts‘ in chronological order about E.V.E.
(1) He became the President of J ustice Party
(2) He joined Congress
(3) He became President of Tamil Nadu Congress Committee
(4) He organised Vaikom Satyagraha

@A) (@), @), ), Q) B @), 1), (3), @)
© @660 - - OO0

(E) Answer not known

/. Qeu.gm. uhd st euflensliLig Dameuhid HlSDHeISMET ((PBIGEMLO&EESED.
(1) e fHs sl duler seeeui e

(2) oeur SESrefld Geirpgit

(B) e sB8PBETEH siidya S0L_1q UG SENEEUTT ETTIT

(4) oassbd ssdundlysnd geusderi s ‘

A @),®, 3,1 B) @, (1), ®), 2

©) (2,03, @), Q) ; D) 3), (1), 4), (2)
(E) &er Gsflusiome

79. “Vaanalum Selvamum Mannarasum Yaan Venden”
[I don’t want rule the sky, wealth and monarch]
Who said these words? |
(A)- Ramalinga Adirgalar (B) Sundarar
(C) Nammalvar ' (D) Kulasekharar
(E) Answer not known

“umarm(@ptd QFeUpLD DelTERTTELD L GeianGLer” — GG LiTlg LIGUIT.
(A) @uroedtis sigserit (B) spsym
(C) _V(II)I._'DLDFF@@JHI'T : 7 D) Eatssiyi

t : (E) allen Ggflueidama ’

oy
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80. There are four cell phones in a house. At 5 a.m, all the four phones
will ring together. Thereafter, the first one rings-every 20 mins, the
second one rings every 30 mins, the third one rings every 40 mins
and the fourth one rings every 50 mins. At what time, will the four
cell phones ring together again? '

(A) 1P.M.
(B) 1AM.
(€) 3P.M.
(D) 3 AM.
\ (E) Answer not known

R 6llged BHIeNS, &m@a@uaﬂa;m o dreTer. ST D LeNEE, ereer
2ieoGuilsEpbd @amrs eadlsEn. e wsd mebuslurag geibleur

20 Hifl msafigid, @rar reg <imatus geaiQairm 30 HOL misefgib,
eperprag S@oGuél ga@arm 40 Bl misefigin, pratsrag SimeoGuE

geuQ@aurm 50 Bl msaflgyd f@@Slaséﬂmj)em aTaldd, Sene LSG?SDT@LD eriCung
RATDTE REGGLD ? :

(A) YGhuse 1 wewf
(B) whused 1 wenf
(C) YWopused 3 wenfl
D) whused 3 wenfl
(F) e Osflueddea

If HCF of x> =8y® and x* — k”y” is x + ky then value of k

A) 2t € (B) +2

© -2 (D) 0

(E) Answer not known

x> ~8y® LHMD X 2By & BSOQugs otur@ @J@g@ x+ky Grasﬂa) k e l
&

(A) 2 seoeg —2 (B) +2

C):. -2 (D) 0

(5‘4) eQanL @ajrﬂu@ﬂwm@
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- 82. Match the following :

Enacted Year Name of the Act
(a) 1963 1. Prevention of Insults to National
* Honour Act .
(b) 1991 2. Representation of People Act
(c) 1971 3. Government of Union Territory Act
(d) 1951 4. Government of National Capital
Territory of Delhi Act :

@ O e e
WNE S

B r 9 4
i 3 5
@1

(E) Answer not known

W = = DN

Spssam_aibeapl QUImsSs

QuIHDUILIL L o 66r(H) &L;l_gﬁsisr Quuwirr
(a) 1963 L. priger QUGB SeundssiLBeimss
: Sl Glatiub & b
) 1991 2. wé&ser AHHEss60E FLLID
&) 1971 - 3. @Qpdu gaul LGds s ib
(d) 1951 ‘ 4. GCsélug soapst QLo eadlu LGdHs
: : FLLID

A 3@ °» 1 2
T
s - 3 5
O¥> 1
(E) &fen Qsfweddara
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83.

84.

Which one of the following is false with regard to the reign of
Ahmad Shah?
(A) He transferred his capital from Gulbarga fo Bidar (1425)

(B) The rivalary between the Dakshin party and foreign party
became accentuated during his period

(C) He conquered Warranga! in 1424-25

(D) He annexed the kingdom of Gujarat to his Empire

(E) Answer not known

508 egrelear < fuler ECp @OUECLaupdled ergl Heupreng ?

(A) soopser Gourssteddmhs SLTHEES wrpdler (THR25)

<_J
(B) <o srosde Lsfar  @Guelp@d OCeelpribé GUesGSD
‘ Qe Qerer Guorged Lpdl CusliLl () absgl

(C) 1424-250 gy@mged auMhisd e GLib @sUUDPLILILLE)

(D) ©grs <igmes gar CuirsL e Qmenssis e

(B) ofenr Osfuialdema

Who called India as “Ethnological Museum™?

‘(A) R.C. MSuméa# ®) R.K. Mookerji

(C) H.Risley (D) -V.A. Smith

(E) Answer not known

| @rHur @ ‘walls Gosder SHRET Hwisd ear @{m@(&)g@r‘r Wi 2

(A) <8 wgebsmi (B) <=r.Cs. s
(C) Qamé. Meved (D) N.g. dvds

- (B) e Qsflueldane

55 o CCSE2E/2024
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~ 85. Reaching the place of meeting 20 minutes before 8.50 hrs Sunil
found himself thirty minutes earlier than the man who came
40 minutes late. What was the schedule time of the meeting?

- (A) 8.00 (B) 8.05

.0 8.10 o (D) 8.20
(E) Answer not known
gl LD gan@usne 20 ﬁuS]l_Lb werarGw safle eemueir 8.50 wanflés,
Qlgemmmr. oimki@ &l L LD gjmréj@eug,ﬁ)@ﬁo BOlLD pererGr aubgl L gms

o euiibgmr. e wallsh smiLgsiheg 40 HBlLb sresTwgors absmt eafle
sal L b glouhs GHss Crirbd eremen ?

(A) 8.0 , ~ (B) 8.05
¢ 10 (D) 8.20
(E) ofeni Qgrﬂmaﬁ]mmm .

86. A can do a certain job in 75 hours. B is 20% more efficient than A.

(A) 5hours (B) 51 hours
(C) 6 hours € (D) 6% hours
(E) Answer not known

‘B’ aramueuii ‘A’ erarucueny ol 20% siflsors Cama Gsudpri. A g

:
\
|
: How many hours does B alone take to do the same job?
Coueneeni 7% werfl Cprgded Qsug wpusdpri eefld, B wl@b <bHs

Caumavanws Galig (pru&s adsamen o) Cprd ehisss Qamereun?

A) 5 o Coyb : (B) 55 wefl Cryi

©) 6uwef Gy D) 61 wad Coyo

(F) Mo Qsfualoame
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. 87.} ‘Choose the right matches among the following.

(1) Thiru.V.Ka . — Desabakthan
(2) Subramania Bharathiyar —  Hindu
(3) Annie Besant — New India
(4) Kasthuri Ranga Ayyangar — - India
(A) (1) and (3) only . . (B) (1) and (4) only

(C) (1), (3) and (4) only ' (D) (2), (3) and (4) only

(E) Answer not known

Qeeu(mld euamssE GarCu sflwrar CUMBSSE ST Ggira| Cewwab.

(1) Speis ‘ —  Cssubgen

(2)  suyoerilu urrSur e ), O .
(3) oenaflQuaet C~ Ay @pSur |
(4) sevgmM s SWBRSTT —  @bdwur (

(&) (1) woppid (3) LEED (B) (1) wpgid (4) v EL

© (1), (3) wpmod (4) LLED D) (2), (3) wpgid (4) LB

(E) e Qgflweildena

e

88, —— - original name was Kumarasamy Nayak.
(A) Kattabomman (B) Oomaithurai

(C) Dheeran Chinnamalal (D) Marudhu Pandiyar

(E) Answer not known |

&1 QupCuwiT Gurrsmd E
(A)  sULG@Qumbwer (B) sarennggieny
(C) ﬁqeﬁrﬁmmmm@ (D) wmg unemigwi

(E) Mo Qsflweldeaea

¢ 3 ' 57 . CCSE2E/2024
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~ 89. Find out the incorrect statement about the Sarkaria Commission :
(1) The Conimission was appointed on 1983 '
(1) The Commission made 247 recommendations
(111) The C'ommission‘recbmmended to scrap the Article 356

(iv) The Commission recommended that the residuary powers of

taxation should be given to the states
(A) (ii) and (iv) only
(B) (ii) and (ifi) only
(C) only (iv)
D) (i), (iii) and (iv)
(E) Answer not known
- gnssrilwm <2, ETWILD u,rj),r_ﬁ]u_l Seummer gmmlenar esas'm_;ﬁ]a; :
1)  srssriur eeeamub 1983-1b wyar® gHUGSSILLLS)
i) @ss oanub 247 ufisg@rsmer sielsss
() s 356-g focaispe Qb5 Y@anud LAss@IssE
R QO 4 pal fsmruser  LrflonseLd Goss
Caam@u ererg Gbs mamun LAs@ISSS!.
@) (i) opph (V) ocon
(B), Gwopglh (i) we @
©) (v) o
(D) @), (i) wpgis (v)
(E) e Qsfuefcrency
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90:.

91.

‘Tamil Nadu Day’ celebfated every year on
(A) June 8 : (B) June 18
(C) dJuly 8 (D) July 18

(E) Answer not known

‘SOPETH Herd’ eBane aGLpb s SarsBle QsmarLr_OuG &g

(A) 98  (B) gOar 18

(©C) g9%e 8 o - D) g9%ve 18
(E) ofeni Asflwelldama

Which of the following is correctly paired?

(1) 2014 — Target Olympic Podium Scheme

(2) 2025 - Mera Yuva Bharat (MY Bharat)

(3) 1982 — Sports Authority of India (SAI)

(4) 1984 — Dronacharya Award was instituted

(A) Only (3) is correct (B) (1) and (2) are correct

~ (C) Only (4) is correct (D) (3) and (4) are correct

(E) Answer not known

Epsaam_eaupdled aflurst QurmEssiULL @eemn e ?

(1) 2014 —  @dibd9s CooL Geéss HLib
2 2023 - aag Qeerw urgsn (MY ums)
(3 1982 - @pdu e seamub (SAD)
(4 1984 — gGpmemmsstAwunt s HpeuiunLg
Q) () wrEn s (B) (1) wopid (2) &f
(©) (4) v & (D) (3) wppd> (4) &

(E) ofeni Qgrﬂu@ﬂéxﬁa

59 v CCSE2E/2024
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92. Match correctly the Newspapers associated with its Founders -

(a)
(b)
(©)
(d)

)
(B)
(©)
(D)

E)

Richard Johnston
G.P. Pillai

1. Madras Courier
2. Madras Mail

Charles Lawson and Hehry Cornish 3. Madras Standard

G. Subramania Iyer

o W 9

1 3 2 4
1 2 3 4
2 3 4 1
3 4 1 4

Answer not known

4. The Hindu

Canpmiadssauiseslar Qsm_iLjamLw Cewdlssreer sflums Qummssalb :

(a)
(b)
(©)

(d)

(A)

®B)

©)
(D)

(E)

M&FTH gyrerge
G.P, arener
SMTEGEV Qg6 WMHMID
Oemetril smire ey

G. strweflu g

(a)Q O © (@
3

1

1 2 3
2 3 4
3 2 1

V]

e e N

eflen Qsflweldana

CCSE2E/2024

i
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—

OSTTEV gafluiir

o

&TTen Gloude

=

LSTTEL GVL_TeTL_iT(h)

4. & adlpg
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93.

94.

95.

In how many months the principal of Rs 2,000 will double at 8% per
annum in simple interest? .

(A) 144 months (B) 150 months

(C) 120 months (D) 140 months

(E) Answer not known

safl aully epod g ep. 2,000, 8% culieissdler @ igliLimg ereialere,
IDTSLD DA GHLD ?

(A) 144 Long;réjssdf ' (B) 150 LOTSBIGET
(C) 120 wrgmsdr (D) 140 wrsmsar
(E) &fer Qsflweiiers

The L.C.M. of 3, 2.7 and 0.09 1s

(A 27 , (B) 0.27
(©) 0.027 . D) 27
(E) Answer not known

3, 2.7 opmidb 0.09 e B8.8.0 ,
) 2.7 (B) 827
(&) - 0.027 ' ' (D) 27
(E) Mo Gsfuelaeame |

Which one of the following lies between %/7 and 57

@ 2 B) V3

© 4 | ® 5

(E) Answer not known

Spsstamuapdla a5 371 it 15 BandinE GoL i e
Q) V2 | (B) /3

©) 4 | D) 5

(E) ofeL Qsflwelldaa

61 CCSE2E/2024
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96. Assertion [A]‘f Governor in the Indian Federal System is

Centre.
Reason [R] : The Office of Governor is against the Federal
structure. . | N
L) AL is brue buc il e B

(B) Both [A] and [R] are true, and [R] is the correct exp‘lanation
of [A] | |

(C) [A]is false, [R] is true :

(D) Both [A] and [R] are true, but [R] is not the correct expiahation
of [A]

(E) Answer not known

app [A] 1 @pdw sl Lriflba, y@ppr, <irdler se@euit WwHHID

' sl orflar AIABH aengid B dsorar Leflsmar
Qi

as'nqenﬁm [R] :  <y@mni eranp HpeuarGo sl m a6 adymang

A)  mpm [A] &, Siame smems [R] saim

B) oy [A] womb smpand [R] &f, Coaud smpm [Alssrar  sfwmar

~aflerssons sryand [R] o drerg

(C)  smpp [A] sauy, smramd [R] & ,

D) smdm [A] wppid srramd [R] @ran@id o, seme smpp [Alssrer
silwnen ellatésons sryerd [R] @dme

(B) Mo Gsfusiaoama

CCSE2E/2024 e - -

assigned dual role, as the constitutional Head of

 the State as well as the representative of the




Ji.

9.

Who had been given jché “Shilp Awards” by the Ministry of Textiles
and Industry? '

(A) tolegendary drama artists

(B) to rural women entrepreneurs

(©) to legehdary farmers

(D) to legendary crafts person

(E) Answer not known

g%mdﬂ LDﬁ)Q_l'Lb . Qamegienm  AMDEFHSSTD @a)u Sll(BEISET  WT([HES
aupmEISLILHE DG ? '

Q) ysLAUDHD BIL&S SEHTSEHE®S |

(B) Agmouyp Quer GsmflowpamerGeuit

(C) yspQupp efeusmuiser

(D) L;asgle‘_nj)p) maelemans asaneu@r'raseﬁ

(E) &evr Gsfwslerene

Some parts of the moon never see sunlight. Because the axis of the

moon 1s — to the direction of the Sun’s light.
(A) Perpendicular (B) Parallel
(.C) Same (D) Opposite

(E) Answer not known

catpmed  Hlaelar =FE 7w adla dassg : 1Y 3
G (BLLISTED.

(A) @grm@ggrra (B) @eearwurs

(C) - BBITE (D) adyrs
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99 Accordmg to Valluvar what is the Weapon to destroy the arrogance

of foes? -
(A) Heroism: = . (B) Force
(C) Fort | (D) Wealth

- (E) Answer not known
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100. “————— that man desire it is plain whom others Wealth
Delights not, feeling envious pain”.
Whom does Thlruvalluvar refers to in the given above Thlrukkural?
(A) Nor wealth nor virtue does that man
(B) Man of envious heart
(C) Envy they have within
‘ (D) Goodman

(E) Answer not known
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